#& 391024 B A 73478 sinsx & cossx F M 2 AFE 4 K 3E(3)

FHEMUT BIW o]0 P o 3478 2 & Sodiesinsx & cossx § M 2 S A
WMo TR LR B G

2%

Pl

e © COSMX B sinmx "
Bl dx=7ze" ~ dx=0 > m>02z f 4~ & °
x?+1 2

X +1

(r ]

WS IR 2 A NS s

(1a)

(1b)

d 2 Witk doBl- T AT T G 2 kT h )t hiE LBV A L oz=x+iy 0 H P X
s z2 ¥ (Real Partofz)  y# i z2 m#% (Imaginary Partofz) e F1 i -k fh i
Ffchh > KT ph ) E - BEE2Z AL 00 Fz=X+iy=x+i(0)=x o

-

™~

Z =X - f:" =X

Bl- FlAF#cT G KT ht o - a2 RifH5 00 gz=X




Flpb o 7 (la)e (1) 7 A uEe g %

B:_-[O22+1 ‘

X (2a)E A (2b)F (FA+IB2EE > B

0 o0 o0

A+iB:jcosmzd iJ~sinmzdzzJ~cosmz+isinmzdz ]‘i e

J P+l Y7+l 2°+1 JP+1

imz

dz

P& &g RN (B)2 fE 0 £ A WBH R It A 2 n B3R A > )5 ()2 5 (Ab) o B AR

2RI e )

X = Re{'[ze2 1dz}

T LN s
JX+1 s+

00

M 2 (da) 3 (AD)2 347 MR BT A S [ 1
7+

00

Oz 2 f245 o SR 2 o B %

W AR Zmip gt Shdks o Ts=m o Fls=m>0-d 2w HA

. , T e™
fEET o qa g |
1 7741

00

dz z_ japs > REB4oBl = #rm P LT G 2 g4




o0 eimz eimz eimz
Bl- FHdhl 2ZMfFriey >t dz = dz - dz
" P ! I22+1 §22+1 i22+1

—00

0 eimz eimz eimz
d Bl w2l RARARE T [ —dr=f——dz- | AR

2 2
o+l 22" +1 czh+

imz

e

2
ez +1

Qz2 ff A 5 R » B LA 4T

imz z im(Re'?)

d(Re")

je dz = lim

22 +1 R»w!(Reig)%l

) T eim[R(cosH+isin0)] . 0
V4 eichosG—mRsin@ 0

_ iRe'“d6@

RZeI29 +1 ( )

Cr

7 ~imRcosé ,—mRsin @

—him [ (jRe"
‘L'l?ol g (IRe'd0)

V4

_IhnI[cosUchosﬁ)+iﬁn0chos€He
- Re'? + (I/R)

—-mRsin @

(ie'?de)

R—w

e %&eiﬁ/ﬂ\%@{[&ﬂ] » 22sind>0 > x Tl B R o #712 lime ™ 50 o

R—x

AP NE)T R A Ao T AT




imz —mRsin @

.[ T [cos(mRcos#) +isin(mRcosd)]e

: ie'’do
g2°+1 R>29 Re"?” +(UR) ( )

{cos[m(e0) cos O] +isin[m(c) cos 8]} (ie'?)

(0)e™ + (1/o0)

}[em(oo)sinﬁ]d 9

(6)

T o R (da)d X (Ab)T e G

imz

e 2 Ly =
> 1dZ I o 'ﬁi’%’ﬁﬁﬁ;’_ Tid’ﬁﬁf/”\ﬁ’éﬁ‘_]’\ .

I N R
c Z

v

(Singular Point) 5 e ? £ f & Sficz. A * 5 2RIV H NP E2L A BH R z=i2
Z=—i »rBl=r7 s A z=ithi X T g2 ARl ¥ 5 HimE (Simple Pole) -

@

Bl= HiRz=ijzaffird mC2pn

Flz=i 5 Hi&g > &7 3l * & & 732 (Residue Theorem) £ H & gLzt B o 3




R AR R o B HARER T B oS KhiE G

X

Op(z,)#0; @z, 5Cp 2 Himg o

] eimz
f dz =24 R
i (z2) dz = 2 Res——

=27 1lim
z—>i 27
_eim®
a .
2(i)

= "

BisE 517 2 (7a) X (Tb) > T E R R AE R > W

- .



